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: FRM Exam 1898—Questi

b) Since the subsidiary defaults when the parent defaults, the joint probability is
simply that of the parent defaulting.
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Example 18.10: FRM Exam 2002—Question 92

) Because the events are independent, the joint probability is given by the prod-

uet (1= p1)(1— pa)(1 = pa)(1 = pul(1 = ps) = (1= 1%)(1 = 29%)(1 = 5%)(1 —
10%)(1—20%) = 70.51%.
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EXAMPLE 10.1: FRM EXAM 1998—QUESTION 89

What is the correct interpretation of a $3 million overnight VAR figure with
9% confidence level? The institution

a. Can be expected to lose at most $3 million in 1 out of next 100 days
b. Can be expected to lose at least $3 million in 95 out of next 100 days
. Can be expeeted to losc at least $3 million in 1 out of next 100 days
d. Can be expected to losc at most $6 million in 2 out of next 100 days

EXAMPLE 10.2: FRM EXAM 2003—QUESTION 11

Based on a 90% confidence level, how many exceptions in back testing a
VAR would be expected over a 250-day trading ycar?
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